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QUESTION 1

To create a Layout Component Reference in a report, which object property needs to be provided?
A. Conditional Reference

B. Label

C. Name

D. Render Variable

Correct Answer: C

QUESTION 2

What is the significance of \\'Clothes\\' in the following filter expression of a report query? [Product Group] = # sq(
prompt( \\'productgroups\\', \\'token\\', \\'Clothes\\' ) )#

A. \\'Clothes\\' is the default text to include in the generated query at runtime.

B. The string \\'Clothes\\' will precede the text of the prompt value selected at runtime.

C. The string \\'Clothes\\' will be appended to the end of the text of the prompt value selected at runtime.
D. \\'Clothes\\' is a required value to include in the generated query at runtime.

Correct Answer: C

QUESTION 3

Which is true about creating a context filter for a crosstab report using a dimensional data source?
A. it changes the measure values and the items in the rows and columns

B. it is applied after aggregation and changes the rows and columns

C. it changes the measure values and suppresses zeros

D. it filters only the measure values, not the items in the rows and columns

Correct Answer: C

QUESTION 4

Which dashboard formatting option would be used to take several images and text objects and combine them into one
object to enable ease of movement and/or alignment?

A. Group objects
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B. Layer objects
C. Combine objects
D. Pack objects

Correct Answer: A

QUESTION 5

A developer may improve the look and feel of a dashboard or story by adding images and shapes from the Widgets
panel. Which statement is true when adding widgets to a dashboard?

A. The widgets panel may contain an Image library tab that the administrator made available
B. Images may only be made available by URL reference.

C. Images can be uploaded to the Image through the upload option on the widgets panel.

D. Text widgets may only be positioned vertically or horizontally.

Correct Answer: D
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